H & 0l & AHS B Ml A

FA 202t
Ha: HAS 2
el JhRe EAEE 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SZ0Ist 19,435,889 18,207,781 1,228,108
= 800,800
Al 151,800
- 18,483,289
FAagd 2el 11,215,353 9,820,544 1,394,809
= 800,000
Al 100,000
- 10,315,353
IWRE TAEE &4 10,696,414 9,334,04 1,362,360
= 800,000
Al 100,000
- 9,7%.414
HEE FHSE X4 47,780 53,840 26,060
201 2= 23,620 29,380 Ab,760
01 AtR2t2lt] 17,060 22,820 Ab,760
Oget=ZH| 11,545
OBEFH SHE 29
400,000 1200 & 4,800
OESFA S vlUl &X
20,000 *3CH* 122 720
OBERA FAHY SIIFE)| &xt
40,0002 x1CH= 123 480
OESFH A7 7Y 2,575
QU= 9,000 *33& * 1162 1,782
=8l = 3,500 +33& *1JH+6E 693
@==cl ORZEXE
10,0002 * 10CH 100
OBERH HEE JUS 4+ +¢ 2,970
@500m| 4 == 5002 *33E 21«00 2,970
O S RAUBHALE AHSE
120,000« 12& 1,440
Ol g2f 2J| NHA=3
4,075,000 4,075
2 s5=34l 6,560 6,560 0
0332 € AMAl 4,360
OSBSERA FHA Ay L TV 3l
40,0003 * 122 480
OBERA FHY TADIA 2=
220,000 122 2,640
OLHIBHEAI| B2 ML=
20,0003 1 A+ 122 240
OZEE HHY SHEH(MKeDIS Soitha
) 1,000,000 1,000
OAlZ &I Xl 2,200




FA 202t
Ha: HAS 2
el JhRe EAEE 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CEEEERETFERETEE
100,000& * 12 1,200
OSESFA S ALHI=All]
1,000,000 1,000
202 04| 1,210 1,210
01 =LHOLI 1,210 1,210
o220l 1,210,000& 1,210
203 HR=H] 950 1,250 A300
03 A=A R =AH] 950 1,250 2300
OFLAIHFX 950,000 950
307 elzto| & 22,000 22,000
05 212t =S 22,000 22,000
Os2 XZAML U ===
22,000,000& 22,000
HEHIIZ =H2E2 &6 ALY = 9,428,622 9,070,762 357,860
201 =3 29,210 29,210 0
01 AtR2t2lt] 25,850 25,850 0
OZ222H =2A A= 2,200,000 2,200
Ol S AA=EN EY
20,000,000& 20,000
Oul=Hl(2&8&) 1,650
oxg= 60,0002 1123 1,320
o< 30,0002 11 330
OdgHIIZ =2 222 N
2,000,000& 2,000
02 S3=gHl 3,360 3,360 0
OUEHDIZ LEHIEAAE AIE=
280,000& * 122 3,360
207 AR 32,000 32,000
01 H7ESHI 32,000 32,000
OMEHDIZ +=& - 28 g J0RHE 89
20,000,000 20,000
OdgHIl= =& - 2L HeEH &It S99
12,000,000 12,000
307 @120l & 8,569,732 8,211,872 357,860
05 glt?(& = 8,569,732 8,211,872 357,860
OdgHIIZ S =8 - 2 Hd+==2 8,569,732
oggtMgd| =& - 28 Hdx=
4,020,863,000& 4,020,863
OMEES =& - 2t Ud++=2
3,077,800,000& 3,077,800
OBNTMBHIIS 47 - 28 @228
496,339,000& 496,339
ougHllE =& - 2t Hd+==
551,422,000 551,422
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FA 202t
Hu: mASA B2
el JhRe EAEE 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OATA JIREL HEa+E
423,308,000& 423,308
308 AHXIEMSOIE 797,680 797,680
07 MK SHHIPBE = 547,680 547,680
OdEZHII= e - 22F B8 547,680
OZTHZE vlaaz
16,800 *1,950=+12& 393,120
O3sXN4 HJI= e
8,400 x200E+ 123 20,160
OZSAMEMEH D2 B+
35,0002 «200E+ 122 84,000
OUEHIIE Brelsar
16,8003 x250E+ 12& 50,400
1B IERg=s 250,000 250,000 0
OHJIZ X2 FE= 250,000
Ol Mz F8=
15,0002 +6,0002 90,000
042 M Y2
10,000& x16,000& 160,000
A 2el 1,143,736 140,728 1,003,008
= 800,000
Al 100,000
- 243,736
201 =3 143,736 140,728 3,008
02 35244l 143,736 140,728 3,008
Oxtgrz A2 126,936
odtzEAIE & 7Y 10,200
OAOIES(TH) 170,0003 *4LH+100H 6,800
OAOIES(A) 170,0002 *1CH*20H 3,400
oLHIE 22 FaJ| £7Y 1,080
OAOI=E(2) 45,0002 <2CH* 1204 1,080
OFAXY AL =& 1,216
@I Z A 40,0003 %42 160
@SS BA 88,000& *122 1,056
OFAXIE #=cltl 100,000,000 100,000
OFAXE FFU(NGIHARIE)
13,000,000 13,000
OF XY A2 (NG W SII)
360, 0003 *4CH 1,440
OLBdE 2R F4)| Yoy e
300,000 2CH 600
O=32=  HAl 16,200
OXS A 200,000 200
ONESiEE = 16,000,000& 16,000
405 KHaHE SH 1,000,000 0 1,000,000
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100,000
7,460
7,460
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FA 202t
Ha: HAS 2
el JhRe EAEE 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ozt 18,0002 +33& 594
OEUYTI I
6,000 x33H*2I» 122 4,752
oxg= 20,0002 %33 660
ogd= 20,0002 »33& 660
ogstita3a 2,500 *33 2 *20K 165
o=Zerd 15,0002 33 495
og&0tA3a 2,000 33 *10&+62 3,960
ogstdz 20,0002 »33& 660
o=z e gss #¢ 3,630
ox=s=2sM 15,0003 %33 495
o&==2al 15,0002 %33 495
OREEaM 20,0002 %33 660
Odlcl2s 40,0003 »33H 1,320
OEEXESH 20,0002 »33¥ 660
202 04l 15,000 15,000
03 =IHR0HI 15,000 15,000
O8AB2x MAK A8t
15,000,000 15,000
301 EtE NS 17,220 27,280 10,060
11 AALRHIXIZS 3,300 16,200 212,900
OBABLE & £ HEU
50,0002 33 +23] 3,300
14 DBt 2 a3 13,920 11,080 2,840
OJ1g&(8332H) 4,620
Odg, =4 JI183
50,0002 +x33E *23] 3,300
oM J183 40,0003 »33H 1,320
Ogol(ZE) &= 8,300
OZ(HH)EIXX} JIEE(2 &)
2,500,000 *3% 7,500
OHM(FH)EAX 2IF20], B8
200,0002 3 600
OZo(aE)EdEMN 25 7
200,000& %12 200
Olloi=24a S 1,000,000 1,000
daM)] SEM 3F 518,939 486,490 32,449
SEHSE =32 2 518,939 486,490 32,449
201 er=23y| 710 710 0
02 S3=gHl 710 710 0
OGB HIZE AMOIE R E==H|
710,000 710
206 M=Hl 402,730 374,670 28,060
01 MHZH| 402,730 374,670 28,0060




FA 202t
Hu: mAB 22
Chol: MEMED| Z2H HE (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSEN=SE MH 306,838
©5¢ 33& 200, 0000H 6,600
©10¢ 413 %1,420,0000H4 58,220
©20 ¢ 582 *2,523,0000H 146,334
©50¢ 12431 %450,0000HK 55,800
O7514 1693 *236, 0000H 39,884
OZUHESE SRHME HITS QM|
83+6,274,0000H 50,192
OSEH=sE SHMA S
3,000,000 3,000
S+ SN S5 NH 42,700
©30¢ 4903 *30,0000K 14,700
©50 ¢ 5602 *50,0000HK 28,000
309 HES 115,499 111,110 4,389
01 SAL- SHEYTES 115,499 111,110 4,389
Oz A2 BSHEZES(SHEMSES=SUE) 115,499
A 2eld 84,976,000 84,976
oztg2ell| 30,523,000& 30,523
HYIE KH&st 4,905,244 4,868,373 36,871
= 800
Al 51,800
- 4,852,644
Mg 2cl=H & HEHEE 512,829 508,443 4,386
= 800
Al 51,800
- 460,229
MeES 2cl+=) 2 393,176 402,662 N\9,486
Al 10,000
- 383,176
101 21AH| 26,023 25,692 331
04 JIZtN2Z2XNS 2= 26,023 25,692 331
onge g2 =210 26,023
OFJ== 83,0503 x1H 165! 13,704
O 83,0602 x1& =80 6.644
ORUHI(nSHl, SA4H)
10,0002 x1& » 165 1,650
Odxtr< 83,050 x1H+8! 665
OF = 120,000~ 1 +8E 960
O4HES 300,000 x1H+82 2,400
201 Let=Ehl 9,160 9,160
01 AtR2t2|HI 4,360 4,360
ER=last=tall 3,360
ONaESE 2= MH 3,000




FA 202t
3 HDI2 Nes
Hel: HaE 2cl=H & HHES (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OHiERE E2= 1002 *10,0000H 1,000
@+ HHF AEIH 100& *20,0000H 2,000
OoMgE3 2cl+=HE EH0IH 2 360
@100%140 18,0002 »200H 360
ONgESEHH 22|
1,000,000 1,000
2 s5=34l 4,800 4,800 0
0332 € AMAl 4,800
OMESSEHH 3322 4,800
[ FSplpes=; 300,000 * 122 3,600
@uol=k = 100,000& «12& 1,200
202 04l 810 810
01 =LHAHI 810 810
o220l 810,000& 810
203 2=l 750 750
03 A=A PR FZ| 750 750
OFQ AR 750,000 750
206 M=l 20,000 40,000 /20,000
Al 10,000
= 10,000
IEET 20,000 40,000 A20,000
OpsZe HE8E ) 122 72
20,000,000& 20,000
Al 10,000
- 10,000
307 @120l & 336,433 326,250 10,183
05 glt?(& = 336,433 326,250 10,183
ONgEs dE AS X
336,433,000 336,433
NN 108,493 94,981 13,512
= 800
Al 41,800
- 65,893
101 e124d| 13,133 13,301 A168
M ORNZZ2NSE S 13,133 13,301 A168
OHAEIIN - HEZS +125 2l21y| 13,133
oJlZ= 83,0503 2 *41 6,811
ON=g(Ra54)
83,0503 x2& 21 3,489
ORUHI(nSHl, S4)
10,0003 =2 ~41d 820
OtE=g 120,000 2 +2E 480
o9& 83,0503 x2H x2 333




FA 202t
3 HDI2 Nes
Cel: W8 2cl=H & NHAHES (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o= JI2FE= S
300,000 x2H 2 1,200
201 er2 3| 30,860 25,180 5,680
Al 10,000
- 20,860
01 At 2|l 30,380 24,700 5,680
oNgsg zels=Hg M 20,000
OHE2S, HIA, HIM +1e M=
20,000,000 20,000
Al 10,000
- 10,000
OHEZS, HAEX && &Xt AAX SRz
= =254l 10,380
OoHgZs 110,000« 128 1,320
OH&EX 110,000 +6E 660
oHgas 25 2 HIS
700,000 * 122 8,400
02 S3=gHl 480 480 0
OHIIEMSE = OS2
40,0002 1CH* 122 480
301 2eEN= 64,500 56,500 8,000
= 800
Al 31,800
- 31,900
14 0Bt 2as 64,500 56,500 8,000
OHIEX 43 Zei2
1,000&+30,0007H 30,000
Al 15,000
- 15,000
O80/H =) &2 500& 60,000 30,000
Al 15,000
- 15,000
ORIl dlN2a= 100,000 100
Osodld = s
503 +8,000H 400
Al 200
- 200
OgsHHd =& &d= 4,000
OHHIE +=H 100& *40,000kg 4,000
= 800
Al 1,600
- 1,600
Hg= sulitd 11,160 10,800 360
201 ger=3| 11,160 10,800 360
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FA 202t
Z3: W2 Nes
Chel: SAI2R HIIE KR (Shol: % 2)
SA - B BRA(SH) - HRA - of v e HIDE2
OuZtMcIAlE e
220,000 «20=+7L 30,800
401 AIZHIX R0 30,000 34,000 24,000
01 AlZH| 30,000 34,000 4,000
OsAlE2%® Hol2 S2II(RFID) 78 &R
2,000, 00004*15EH 30,000
HolE fESI12e] 141,114 129,310 11,804
2250 HolS2el 141,114 129,310 11,804
M0l S S0 22 141,114 129,310 11,804
101 2I24H| 17,238 16,584 654
04 JIZtNZ2 2N SE+ 17,238 16,584 654
O=-&J| 4] 2aXel A& 17,238
(OFJI=t=) 72,6703 x2& *602 8,721
ON=g(F3%4)
72,6703 x2& »332 4,797
ORUHI(wSHI, SAHI)
10,0003 x2& ~60 1,200
QI+ 120,0003 x2&+33 720
o= JI2=RE=s S
300,000 x2H+3E 1,800
201 er23 | 110,566 107,166 3,400
01 At2teltl 65,640 62,240 3,400
O3S0t A= 5003 +26,000% 13,000
Odgt+==H| 20,840
OoxtgEs sx3nAgE s8SI| AUEM
= 3,000,000& 3,000
OUtEHE E2= &
2,000,000& 2,000
OBIEHE & REH5I] =X =2 M
60,0003 *2IH =120 A 1,440
O=SgSI| WEHDI= Xel
1,000,000 #32] 3,000
OZAIDtHIeH 2= & 22l FAIH|
200,000& *27CH 5,400
ORHUSFIISX HUE HI=
500,000% % 129K 2= 6,000
Ogxz 31,800
O=HUEHIIZ &2l =40 Xg
600,000 *1CH*13 600
OSYSI| ZAIIH2 LX=
130, 0002 «20CH* 122 31,200
02 S3=gHl 44,926 44,926 0
OsE2= & HA 34,100
OYXt ZAIDtHCH 2IHAIZE R 2oHE WP
N &tz 80,0003 x20CH « 12 19,200

_10_




FA 202t
33 Hols2 US|
el =80 Hol=2d (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=H¥S)| U5 0SS 2=
60,000 »2CH =128 1,440
OZMEE ZAIHS &=
5,000 132 &« 122 780
OZMHME 2AIDHHI2t SlHAES
75,0003 *132| & * 123 11,700
OS2 XL HE S HSIHI (ZAISHHICH
7,00024 *140CH 980
OAIZ2 &= X 10,826
OEHSI| ZAIDtH 01 & =X 2=
Bl 400,0002 = 10CH 4,000
OSS2NE 2Tt FXI22=H]
113,757,000 6% 6,826
202 04t 810 810
01 =LHOHI 810 810
O&=20tl 810,000 810
203 =4l 500 750 A250
03 A= E =AY 500 750 2250
F=QAHFE 500,000 500
301 LELE NS 4,000 4,000
14 JIEt2d= 4,000 4,000
OHJIZ S8SI| ARa=s
4,000,000 4,000
401 A& HIX R0 8,000 8,000
01 AlZH| 8,000 8,000
FUZ 0l AF HOtAIS 8,000
O0I=4! ZAIStHeH &X
4,000,000 ~2CH 8,000
AH 2 ZHI 3,174,178 3,351,1%4 176,976
QI 2HHI(2Z0I3H) 3,088,318 3,256,102 N167,784
el =gl 3,088,318 3,256,102 N167,784
101 @1A4H| 2,442,455 2,539,983 A97,528
01 2= 167,343 163,263 4,080
O=2R+2(HE) 64,734
OAlRIIRRAY
12,8443 %35 2t 12E « 12 64,734
Ox=2R+E(28Y) 102,609
OAIZRZRE
11,6022 +67 Al 2E+11E* 123 102,609
03 SR (RIH )22 E 4 2,275,112 2,376,720 101,608
Ost3sRHEs 2,246,912
OFJ== 2,357,830 +33E « 12 933,701
oJlgsg 2,877,830 *33H x200% 189,937
od2+¢ 2,877,830 338 *100% 94,969
OXNIE | 2,877,830 *33 *300% 284,906
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£A: SZ0|3t
B sE2oAY|
ool ol 2| (2H20/5H) (EEEE))
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
O2I&SH| 50,000& *33Y + 12& 19,800
OFLRRLY 49,626
022y, 2FY S aEIRLY
250,632 *66 Y «3H 49,626
OAZIR224Y 184,967
OA2RA2EE
31,3202 x8H x8A| 2+*51L 102,258
@Jliol S HIAZ2RSE
31,320 x33H *8A| 2tx 10 82,709
ORI IITY
250,632& *33H x 152! 124,063
(OFAE—Ea= 300,000& x1H*12& 3,600
OFHE 125,280
[ BIESEt=, 54,000
- X+ 40,000 x5+ 12& 12,000
E 100,000 x25%H 128 30,000
-JIEIIE 20,000& x25H x2AH x 128 12,000
SExY2E
90,000& *33Y » 12& 35,640
[ ESgea PSRy
90,000& *33Y » 12& 35,640
O=c|=MH| 236,063
@I AH| 160,000 33 * 128 63,360
[ J=PSE=w]
2,877,830 *33H *25| *60% 113,963
[ I E=wl] 100,000 *33H 3,300
[ Il 140,0003 *33H 122 55,440
O4&HHEH L RI2H & YIOHAF e AY|
4,800, 0002 *50%*3H *3& 21,600
O34 =4| 100, 000& *33H 3,300
O~ A2 100,000 *33H 3,300
M HA=REH2SE 645,863 716,119 NT70,256
M Z2RE(RIH 22X BEE28EH= = 645,863 716,119 N70,256
(@NE=3k=-1=1 2,269,647 ,480& *1.75% 39,719
O eALE=
2,269,647 ,480& *3.545%*12.81% 10,307
OAIH T EAEE 2
2,269,647 4803 *1.024% 23,242
O=0HAZRE= 2,269,647 4803 *4 . 5% 102,135
O=0AHLEEZ
2,269,647 ,480& *3.545% 80,460
OstEds82% &3
130,000, 000& *3H 390,000
=234 (&tF0l1st) 85,860 95,052 N9, 192
J|l2&h| 85,860 95,052 N9, 192
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FA 202t
Zu: #ES A
Sl J1=2dI(2&3 013 (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 43,920 39,912 4,008
01 At2teltl 43,920 39,912 4,008
OJI2 A2/l 21,0008 x24E 12 6,048
os2x@ 3|
9,0003*13H 84 x 122 11,232
O2dA ZAY
9,000 »11EH*2041 12 23,760
OSAPI itz 240,000 «1CH*12& 2,880
202 04l 38,160 51,360 /13,200
01 =LHNHI 38,160 51,360 213,200
OZU o] 20,0002 x 13282 * 122 24,960
OZLHOHI(2ER)
10,0002 11 *102 * 122 13,200
203 g4l 3,780 3,780
M EA2LR=AY 3,780 3,780
OI1EA(25H0I5H 350,000& x 122 x00% 3,780
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